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Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 966231451
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 9662319853 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Sorme letters are numbered as 1, 2, 3, 4, & and &. In the options, four possible arrangerments of these nurmbers
are given. Choose the option 50 that the letters form a meaning ful word.

TEFCOK
122456

Options:

1. ® 553421
= ¥ 354621
3. % 153625
4. % 224581

Question Number : 1 Question Id : 9662319853 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FT AR W 1,2,3,4,5 3% 6 0w [ M7 8 fEwenl #, 57 Gl @i oW §uTicd cHae ] 5F T8 8 99 [dwed @1 ao &t
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TEFCOEK
122456
Options:

1. # 553421
2 ¥ 354621
3. ® 153625
4 % 224581

Question Number : 2 Question Id : 9662319854 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Out of the given options, three are similar in a certain manner. Howewer, one option is NOT like the other three,
Select the option which is different from the rest.

Options:

1. % PLT
z ¥ MG
3. % FE]
4. % MNJR

Question Number : 2 Question Id : 9662319854 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % FLT
2 ¥ MG
2. % FE]
4 % MNJR

Question Number : 3 Question Id : 9662319855 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Out of the given options, three are similar in a certain manner. Howewer, one option is NOT like the other three.
Select the option which is different from the rest.

Options:

1. % Manipur
= % ltanagar
3. # Dispur

4. % Kohima

Question Number : 3 Question Id : 9662319855 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ﬁ{qn%ﬁaﬁ—nﬁﬁﬁ 1 Ter TS Foie & W 51 §TAlh, U [ded ST o 14 1 a¥g Al 51 39 e o7 == & =1 arehl &
ATETT

Options:

1. mitge
2 %
3 % REw
4. % rigAT

Question Number : 4 Question |d : 9662319856 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the option that is related to the third terrm on the same basis as the second term is related to the first

TErm.

THE : WEH . FMD» . ¥
Options:

1. % BL]

= % REM

3V S]G

4. % SPG

Question Number : 4 Question Id : 9662319856 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
9 e T =z B ST 6 UG I A Hald e WE H UgET 0 g U o Helldd gl

THE : WEH :: FMD . 7
Options:
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1. ¥ BL]
2. % REM
3. ¥ 3]G
4. % 5PG

Question Number : 5 Question Id : 9662319857 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If in a certain code language AEC means Party is amazing, DEC means amazing and fun, DF means fun
loving, then what is the code for 'AND'™?

Options:
1. % C
= % B
3 %D
4 ¥ E

Question Number : 5 Question Id : 9662319857 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

oie U AT wig amr 8, ABC @7 aff £ Party is amazing, DEC &7 & § amazing and fun, DF &7 28 fun loving §, a1
AN & Tl g Fa7 27

Options:
1. % C
2. % B
3. %D
4 ¥ E

Question Number : 6 Question Id : 9662319858 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If 964321 is coded as 42110 then what will 5327 be coded as?

Options:

1. ® SE982
=z ¥ 11008
3. % 20644
4 % 13658

Question Number : 6 Question Id : 9662319858 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
IiE 96431 FT 42110 &F =7 § T2 o @1 S, 91 65327 T e HITST T mom?

Options:
1. # SEag2

2. ¥ 11008
3. % 20644
4. % 13658

Question Number : 7 Question Id : 9662319859 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks: 1 Wrong Marks: 0.25

There are five friends - Seermna, Krishna, Mansi, Ashi and Reerna. Seerna is shorter than Krishna, but taller than
Reerra. Mansi is the tallest. Ashi is a little shorter than Krishna and little taller than Seerra. Who is the shortest
arnong all?

Options:

1. % Ashi

= ¥ Reerma

3. % Searma

4. % Krishna

Question Number : 7 Question Id : 9662319859 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

wfer i & - AT, gon, A et o e e e & w2, S ST & et ) ATt wed wet 21 st g & Sy ey
ST AT & SNET orell B T W A e e BieT B 27

Options:

1. % st

2. ¥ o
3. % Hmr
4, % u

Question Number : 8 Question Id : 9662319860 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Read the given statement and conclusions carefully. Assurming that the information in the statement is true,
everl if they appear to be in variance with commenly known facts, select which of the conclusions logically
followis) from the statermment bevond reasonable doulbt.

Staterments: -
[. All cars are truclks.
II. Some trucks are buses.

Conclusions: -
I. A1l buses are cars.
II. Some cars are trucks.

Options:

1. # Only Conclusion [ follows.

2. % COnly Conclusion [T follows.

2. ¥ Neither of the conclusion follows.

4. % Both [ and II follows

Question Number : 8 Question Id : 9662319860 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25


https://www.adda247.com/?srsltid=AfmBOor-AwSwfx4DKpITSMBmvlUtFUzE-xzbXgcfF9madx829S9klhOd
https://play.google.com/store/apps/details?_gl=1*1eizu0t*_gcl_au*MTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

=

oy T T A T ] @ A | U O A 59 1 T H ST TE @ 9o &, 9 51 o AT J1F FEAt o 91T e
e U TaTE 3 5, 39 T ot o wpd TdE & U 39 T BT A1 €7 9 SIJH0 B

ERE e

I &t & g gl

II. FF T & )

e -

I &t o e

Il g7 @1 7%

Options:

1. % et Tomept 1 SI{eRT &ear 3
2. % o Teard 11 SIgERo #9747 5l
3. i ot T srge A5t #an
4 % 1 W11 ZHT ST T4 2

Question Number : 9 Question Id : 9662319861 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ot of the given options, three are similar in a certain manner. However, one option is MNOT like the other three.
Select the option which is different from the rest.

Options:

1. % 125
2 % 375
3. ¥ 435
4 % 525

Question Number : 9 Question Id : 9662319861 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

%qn%ﬁ'cﬁﬁﬁﬁ 1 T Tl Fir & T 2 §TAl, U [dded ST o 1= ol a¥g "e1 51 96 e’ @] = & =1 aTe! &
ST

Options:

1. % 125
= ® 375
3. ¥ 435
4, ® 525

Question Number : 10 Question Id : 9662319862 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Select the option that is related to the third number on the same basis as the second number is related to the
first number.

014 -7.143 .. 017 :7
Options:
1. % 5882

2. % 5124
3. ¥ -5 882
4 % -5 124
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Question Number : 10 Question Id : 9662319862 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
9 e BT e ST o T ST I WET F Head § R W S S S Uge | ST el re gl

014 -7143 0177
Options:

1. ¥ S RE2

Z % 5124

3. ¥ -5 8R2

4, % -5 124

Question Number : 11 Question Id : 9662319863 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which two signs shiould be intercharnged o malke the below equaticon mathernatically correct?

F-24+12+2x4=23
Options:
1% -, =

2 %4, -
3% o, -

4 ¥ -

Question Number : 11 Question Id : 9662319863 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
et TaT T i i € & Gy @ 3 T T g e o ey S g AT 2 ey

T-24+ 12+ 2xd=22
Options:
1% - =

2% 4, -
3w, -

4 ¥ - %

Question Number : 12 Question Id : 9662319864 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
Which two numbers should be interchanged to make the below equation mathernatically correct’?

F+1l6+-4=x3-5=10
Options:

1. %7,3

2. % 3,5

3¢ 7.5

4. % 4 5

Question Number : 12 Question Id : 9662319864 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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F+16+-4=x3-5=10
Options:

1.% 7,3

z %3 5

3¢ 7.5

4 % 4 5

Question Number : 13 Question Id : 9662319865 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the missing nurmber in the following nurmber series.

-12, -
Options:
1.%0
2 ¥ 1
z w2
4 % -1

9, 18

F R pu——

il

Question Number : 13 Question Id : 9662319865 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR T ar At # T S A3 w

Options:
1.%0
2. ¥ 1
3 %2
4. % -1

Question Number : 14 Question Id : 9662319866 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Two numbers are 40% and 0% respectively more than a third number. What is the ratio of first number is to
second rnamber?

Options:
1. % 2.3
2 ¥ 73
3% BT
4 #® 5§

Question Number : 14 Question Id : 9662319866 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T HEAT] U o T T § FH 40% 5% 60% SITerd g Uget Sl B ge ! §ed7 § SuTd 41 57
Options:

1. % 23
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2 ¥ 7.8
3. % g7
4 % 5g

Question Number : 15 Question Id : 9662319867 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following Venn diagrams best represents the relationship between stars, planets and moons?

Options:

O
M l\“--’/ -

®
4 ® \E%j

Question Number : 15 Question Id : 9662319867 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T o & @ AT o o R, TRt o agATH! 3 e & Hee @ gud ST gaiaT 57

Options:

LOQ

®
4 ® \\éﬁj

Question Number : 16 Question Id : 9662319868 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& person walks 6 ki towards north, then turns towards west and walks 3 kil He then turns left and walks 4
km, and then again turns left and walks for 2 k. Where is he standing now with respect to the starting point.

Options:
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1. % 2 km north
2. % 2 km south
% % 4 kmnorth
4. % 4 km south

Question Number : 16 Question Id : 9662319868 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T T 30 1 3 6 b a1 &, T P @1 o §24T 5 3F 2 lan =0T 51 JF T a0 371 §2dT & 8 4 km Idar 8, &
TORT o TR G2 dT & 1% 3k TAdT 2] @aﬁﬁgﬁ:‘gﬁaﬁaﬁraﬁw% e

Options:

1.9 2k 3
2. % 2l g
3 % 4 km I

4. ¥ 4 krn =iEm

Question Number : 17 Question Id : 9662319869 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Wwhich of the following cubes in the answer figure CANNOT be made based on the unfolded cube in the
question figure?

=
X

Options:
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Question Number : 17 Question Id : 9662319869 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
JaC AT H o O W U Sgid B U O o ST U FR 1 a1l AT qed T 57

11O %
X
Options:
= !
. |,-“1
A |
i, W W
X/
. Y
oo

Question Number : 18 Question Id : 9662319870 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
out of the given options, three are similar in a certain manner. However, one option is NOT like the other three,
Select the option which is different from the rest.

Options:

£
K
L vlA A

D D>
N
. x|><d
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Question Number : 18 Question Id : 9662319870 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.25

mgﬁwﬁﬁﬁﬁwﬁ%mﬁwﬁ TTAT, U e S o - @1 9 "51 51 =9 Jdded &1 o4 @ AT S o
STET

Options:

> oq
N
B o<

N <
AV
B4

viav
o
o

ANA

Question Number : 19 Question Id : 9662319871 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.25
Which answer figure will complete the pattern in the question figure?

Options:
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Question Number : 19 Question Id : 9662319871 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
I Tl I SIS 0 ST+ # e 7 gy e

Options:

= o
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Question Number : 20 Question Id : 9662319872 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If a mirror is placed on the line MM, then which of the answer figures will be the right mirror image of the
given figure?

O N

M

Options:

4
O

Q 4

SH 4

a D

Question Number : 20 Question Id : 9662319872 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ot T U T 4ET MM U TET AT |, 97 F A 6T F9 HTE S ol T8 T % 95 1 SU Hidfele 57

O N
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Options:

7
O

Q 4

RIS

4

rereral Awareness
Group Number : 2
Group Id: 966231285
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view?: No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

GeTeral Awarensss

Section Id : 966231400

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1

Sub-Section 1d: 966231452
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Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 9662319873 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
With which of the folln:nwing states Margamkali dance 15 associated?

Options:

1. % Madhya Pradesh
2. % Rajasthan

3. % Assam

4. ¥ Kerala

Question Number : 21 Question Id : 9662319873 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
HRITHET Jod Hgierad #§ & T T4 & a5 921 27

Options:

1. % meues
o ® e
3. % @A

4. FTA

Question Number : 22 Question Id : 9662319874 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Sohar folk music is related to which of the following state?

Options:

1. ¥ Himachal Pradesh
2. % Madhvya Pradesh

2. # Jarmmu and Kashmir
4. ¥ Eihar

Question Number : 22 Question Id : 9662319874 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
wiee s | e # & fre o & ST B

Options:

1. ¥ BuEs ndy
o % mem

3. % oy ofK e

4. ¥ fagTe

Question Number : 23 Question Id : 9662319875 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Jalliakattu, in which cattles are worshippead, 15 associated with which of the fOllDWiﬂg states?

Options:
1. ¥ Tarmil Nadu
= % Himachal Pradesh
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= % Andhra Pradesh
4 % Gog

Question Number : 23 Question Id : 9662319875 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. ¢ giia g
2. % TenmwEe nda

3. ® ameruey
4 # 1T

Question Number : 24 Question Id : 9662319876 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ir1 1363, how many private banks were naticonalised?

Options:
1. % 10
o %12
= v 14
4 % g

Question Number : 24 Question Id : 9662319876 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % 10
o %1
3. v 14
4 % 5

Question Number : 25 Question Id : 9662319877 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
is a tax imposed on manufactured goods which is levied at the time of manufacture, rather than

Options:
1. % Excise tax

= % Income tax
3. ® VAT
4, % Custom duty

Question Number : 25 Question Id : 9662319877 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 26 Question Id : 9662319878 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the 5.1. unit of electric current?

Options:

1. % joule
2. % pascal
3. % newton
4. ¥ ampere

Question Number : 26 Question Id : 9662319878 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % @

2 ® gEwd

3. ¥ wqea
4 Ui

Question Number : 27 Question Id : 9662319879 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
which of the following enzvmes converts starch to soluble sugars?

Options:

1. % Betaine Enzyime

2. % Proteolytic Enzvme
= ¢ Amylase Enzyme

4. % Bromelain Enzyme

Question Number : 27 Question Id : 9662319879 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % e oaEy

2. ® mifeaieies oaEn

3. ¥ UHTZEN USTEH

4 & e oA

Question Number : 28 Question Id : 9662319880 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich country does not form a part of the Middle East?
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Options:
1. ¥ Iran

2 ® Yemen
3. % Egypt

4 % Panama

Question Number : 28 Question Id : 9662319880 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % &=

2. % aET

2 ¥ g

4. ¥ gamT

Question Number : 29 Question Id : 9662319881 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which of the following states is the Supa Dam located?

Options:

1. ¥ Karnataka
2. % Assam

Z. % Maharashtra
4, ¥ Gujarat

Question Number : 29 Question Id : 9662319881 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. & wdlew

o % sy
3. % mEwTy
4 ® TRIT

Question Number : 30 Question Id : 9662319882 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which among the following Imountain ranges is located in Australia?

Options:

1. % The Alps

2. % The Rockies

=, ¥ The Great Dividing Range
4. % Drakensburg

Question Number : 30 Question Id : 9662319882 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 31 Question Id : 9662319883 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
who found the new face of the Indian Independence League in 1942 in Tokyo?

Options:

1. # Subash Chandra Bose
= % Jawaharlal Mehru

Z. % Mohan Singh

4. ¥ Rash Eehari Eose

Question Number : 31 Question Id : 9662319883 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % g a ae
2. ¥ FAETATA A5E
3. ¥ HigT g

4. TR A

Question Number : 32 Question Id : 9662319884 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who was the last king of the Nanda Dynasty?

Options:

1. % Dhana MNanda

2. % Mahapadma MNanda
% % Kaivarta Nanda

4 ® Panduka Nanda

Question Number : 32 Question Id : 9662319884 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. ¥ garag

2. ® Ay g
3 ¥ ¥af g
4 % gigwTAg

Question Number : 33 Question Id : 9662319885 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks: 1 Wrong Marks: 0.25
The famous Bibi ka Magbara in Aurangabad was built by

Options:

1. % Nur Jahan
2. % Shah Jahan
3. # Jahangir

4. ¥ Azam Shah

Question Number : 33 Question Id : 9662319885 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % qragr
2 % gmg g
3 % gghfic
4. & A ATE

Question Number : 34 Question Id : 9662319886 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
When was World Trade Organisaticn (WTC) established?

Options:

1. % 1997
2 ¥ 1995
3. % 1998
4, % 1990

Question Number : 34 Question Id : 9662319886 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % 1997
o ¥ 1995
3 % 1998

4 #® 1990

Question Number : 35 Question Id : 9662319887 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ir1 which wear was the Padma Award started?

Options:

1. % 1950
2 ¥ 1954
3 % 1952
4 % 1953
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Question Number : 35 Question Id : 9662319887 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
] QOERTY e o 8 & TeearT 1T 77

Options:

1. % 1950
= ¥ 1954
3 % 1952
4 % 1953

Question Number : 36 Question Id : 9662319888 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
with which of the following amendments was Pondicherry incorporated into the Union of India?

Options:
1.% 14
o %21
3 % 13
4 % 12

Question Number : 36 Question Id : 9662319888 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1.v 14
=2 %21
3 % 13
4 % 12

Question Number : 37 Question Id : 9662319889 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The method of election of the president in Indian Constitution is borrowed from the constitution of

Options:

1. # France
2 ® USSR
% % Eritain
4 ¥ Ireland

Question Number : 37 Question Id : 9662319889 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AT wierr # gt e A R ¥ ATeT & e T 2
Options:

1. %

= % giicgT guraTe ! Tt T 9

2 % e

4 ¥ MTHE
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Question Number : 38 Question Id : 9662319890 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The ________ schedule of the Indian Constitution contains provisions for the allocation of seats in the Council
of States.

Options:

1. # Third
2. ¥ Fourth
2. % Tenth

4. % HNinth

Question Number : 38 Question Id : 9662319890 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

W e dfeem & ________ ST | Tl @ ufag § |l % siee 3 WIee gl
Options:

1. % dr&ir

2. =it

2 % gadf

4 %

Question Number : 39 Question Id : 9662319891 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which among the following tearmns was the first one to win the Hockey World Cup?

Options:

1. % India

2. % South Africa
2. % England

4. % Pakistan

Question Number : 39 Question Id : 9662319891 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % 9qrad

o, % ZiEmT sk
3 ® ZIEE

4. & qiigeaT

Question Number : 40 Question Id : 9662319892 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwho among the following bowlers have taken the most wickets in their career during test matches?

Options:
1. #* Anil Kumhble
2 % Shane Warne
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Question Number : 40 Question Id : 9662319892 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % iy des

o ® gadH

3 % ZEwd

4 gIAT grETeRd

Arithrmetic Ability

Group Number : 3
Group Id: 966231286
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Arithmmetic Ability

Section Id : 966231401

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 966231453
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 9662319893 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
To fill a bucket, 25 mugs of water is required. How many mugs of water will be required to fill the bucket if the
capacity of the mug is reduced to two-fifth of its present?

Options:
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1. % 50
2. % 575
3. % B0
4 ¥ 525

Question Number : 41 Question Id : 9662319893 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % 50
Z ® G575
3. % B0
4 ¥ B2 5

Question Number : 42 Question Id : 9662319894 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What 15 the least number that should be added to 2560 50 that the sum is exactly divisible by 3, 5, 8 and 157

Options:
1. % 40
2 % B0
3. ¥ B0
4 % 100

Question Number : 42 Question Id : 9662319894 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
2560 B WI-E! Heard Tlel HEAT 1 AST AT AT Tk AT 3, 5, 8 K 15 & quigar e 217

Options:
1. % 40
= % B0
3. ¥ B0
4. % 100

Question Number : 43 Question Id : 9662319895 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If 125/1.25 = 12 .5(x, then what is the value of x7

Options:
1. # 00125

2. % 125
3. ¥ 0125
4 % 125

Question Number : 43 Question Id : 9662319895 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % 00125

o % 125

3. ¥ 0125

4 % 125

Question Number : 44 Question Id : 9662319896 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the first 20 overs of a game, the run rate was &.2, what should be the run rate in the next 20 overs to reach
the target of 360 runs?

Options:

1. ¥ 787
2 % 766
3 % 792
4 % 502

Question Number : 44 Question Id : 9662319896 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
el o Ugel 20 SIeRT H, T4 6.2 41, 360 T & W4T d@ Uga- & [6d SHTel 30 $flad! # T T &l g1 aigu?

Options:

1. ¥ 787
2 % 766
. % 792

4 # g0z

Question Number : 45 Question Id : 9662319897 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The marked price of an article is Rs. 1500, After allowing a certain discount, it is sold at Bs. 1220, Find the
discount percentage’

Options:

1. % 10 percent
2. % 12 percent
3.9 15 percent
4, % 18 percent

Question Number : 45 Question Id : 9662319897 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T oeq @ i #Hd 1500 20 21 0% W g¢ o & aig, 59 1320 70 § 59T AT §1 g Wi a7

Options:

1. % 10 nfdem
o ® 12T
3. ¥ 15 nidea

4 ® 15 udaT
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Question Number : 46 Question Id : 9662319898 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& student scores 92% in an examination. His scores were 89, 99, 88, 92 in 4 subjects. Find his score in the Sth
subject.

Options:
1. % 94
2 % 9g
3. ¥ 92
4 % 100

Question Number : 46 Question Id : 9662319898 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % 94
= % 98
3.9 a2
4. % 100

Question Number : 47 Question Id : 9662319899 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A batsman scored 90 runs in a cricket match. He hit 10 fours and 5 sixes during his innings. What percent of
his runs was scored in boundaries?

Options:

1.9 77.77 percent
= # GL G percent
3. % BE.B7 percent

4 # 8333 percent

Question Number : 47 Question Id : 9662319899 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. ¢ 7777 uldaT
2. % 55 oS Oidaa
3 % G667 UideT
4 % 5333 0T

Question Number : 48 Question Id : 9662319900 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

¥ bought goods worth Rs. 00, He gets a rebate of 8% on it. After getting the rebate, he pays sales tax @ 12.5%.
Wwhat is the final ammount that he has to pay?

Options:

1. ®# Rs. 512
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2. % Rs 515
3. ¥ Rs. 517.5
4 % Rs 520

Question Number : 48 Question Id : 9662319900 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % 512w

= ® ©ig e
2 % 5175w
4 ® 50w

Question Number : 49 Question Id : 9662319901 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If an article was bought for s, 200 and a repairing charge of Rs. 50 was paid for it and it is supposed to e
sold at a profit of 5% on the marked price which is 50% added on the cost price. Find the required selling
price.

Options:

1. ¥ Rs 159375
2 % Rs 157375
Z. % Rs 167325

4. % Rs 1623.25

Question Number : 49 Question Id : 9662319901 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

Al Uek g 800 20 H WG] T8 #1¢ SHek FXFRT o Toi] S0 P 7T T T &I 56 Sfiehd Hrd T 25% o oI O oiedl 1 9
T, S AT e  50% Sife g1 e fawd fed | @il

Options:

1.9 159375 #03
2 % 157375 wd
3 % 167325 70
4, % 162325 w0

Question Number : 50 Question Id : 9662319902 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A school has 200 students with the ratio of boys:girls being 2:2. 400 new students were given admission and
the ratio changed to 13:7. Find the number of boys who had taken admission.

Options:
1.9 200

2. % 320
3. % 280
4. % 350
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Question Number : 50 Question Id : 9662319902 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

G H oieel oI ereihal @ 3:2 & arqutd # 800 81 g1 400 A7 ST R Werer T 72 &7 9% SuTd aao® 13:7 1 17
a:ra?{aﬁfﬁﬂwma# Fag e metar Torgm em

Options:

1.9 300
= % 320
3. % 280
4. % 350

Question Number : 51 Question Id : 9662319903 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& and B together have Rs. 2000, If 23 of A's amount is equal to 4% of B's amount, how much does E have?

Options:

1. % Rs 1200
2. % Rs. 1500
2. ¥ Rs 1800

4. % Rs. 1950

Question Number : 51 Question Id : 9662319903 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A T E F U AT 2000 =0 31 afs A F7 o= &7 23 AT E 91 e=i & 49 90 & S 5, 91 o U AT w0 gy

Options:

1. % 1200 F
2. % 1500 w0
3. ¥ 1800 70
4, % 1950 w0

Question Number : 52 Question Id : 9662319904 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Two numbers are in the ratio 2:3, 10 is subtracted from each of the numbers and the ratio becormes 2:5. Find
the higger nurnber.

Options:
1. % 20
2. ¥ B0
3% 40
4. % B0

Question Number : 52 Question Id : 9662319904 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ST EEIN] 2:3 O AguTd H & o nedw g # H 10 R ST & MEE 9% SuTd 305 51 AT 81 390 9 o2l #§E1 A1d W
Options:

1. % 20

2 ¥ B0
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3. % 40
4. % 30

Question Number : 53 Question Id : 9662319905 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

¥ invested an armnount of Bs. 16000 in a fixed deposit for 2 yvears at cormpound interest rate of 12% p.a. How
much amount will he receive at maturity?

Options:

1. % FEs. 19,200
2 ¥ Rs 20,0704
3. % REs. 173920
4 % Rs 18,5406

Question Number : 53 Question Id : 9662319905 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

K o 12% Wi af & kg ea of 0T 2 61 o o S TAr # 16,000 T # emwTiar &7 e form aimgar w 3& et

Options:

1. % 19,200 ¥
2. ¥ 20,0704 #0
3 % 17920 w0
4. % 15,5406 #0g

Question Number : 54 Question Id : 9662319906 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Ina flight of 1800 krn, an aircraft was slowed dowrn due to bad weather. [ts average speed for the trip was
reduced by 300 kmjh and the time of flight was increased by 3 hours. What was the original duration of the
flight?

Options:

1. ®* 4 hours
2. % 5 hours
2. ¥ 2 hours

4 % g hours

Question Number : 54 Question Id : 9662319906 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

1800 krn &1 I H, U TIAT B0 AGH & 10 26T 21 29T oM A1 & o0 sad offed Tl 300 T | wer ww g e ot o
IS F GHAH 3 U DT g 55 2N IS AT I Srerver o ot

Options:

1. % 4%
2 ® oy
3. v 3
4 % gu

Question Number : 55 Question Id : 9662319907 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks: 1 Wrong Marks: 0.25

If & can do a work in 84 days and B is twice as efficient as 4. In how many days more will the work be
cormpleted if B joins A on the 22nd day?

Options:
1. % 105
Z % 165
3. % 20
4 % 21

Question Number : 55 Question Id : 9662319907 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
%Tﬁ;l Tt o g 1 o ST § ST E, A & ENET A 81 AG B 22 o o A & | a1iie giaT1 &, 97 ag ®d e fomt # @

Options:
1. % 105

2. % 165
3. % 20
4 ¥ 21

Question Number : 56 Question Id : 9662319908 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A, Band Ccan doa job in 30, 40 and 48 days respectively. In how many days can A do the work if he is
assisted by B and C every third day?

Options:
1.9 2057
> % 21
3% 21.14
4 % 2014

Question Number : 56 Question Id : 9662319908 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A, B 3T C @A 30, 40 3T 48 Tt ¥ Uw F10 o0 9@ 51 A1 B 3T C gRT 57 3¢ 127 agTaT & AT 8, 97 A 95 F9 fha
Tot o 0T T w27

Options:
1.9 2057
=z % 21
3 0% 21.14
4. % 2014

Question Number : 57 Question Id : 9662319909 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Anerror of 4% in excess is made while measuring each side of a square. What is the percentage of error in the
calculated area of the square?

Options:
1. % 4.04 percent
2. ® £.09 percent
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3. % 7 135 percent
4. ¥ 3 16 percent

Question Number : 57 Question Id : 9662319909 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e =T T WedieR ST o1 HI0G |H 4% ST 1 J1¢ 1d 1 51 & o Athet ol 10T H T8 1 1 Widae 77T 57
Options:

1. % 404 qiFaw

2. % g.09uidaT

3. % 7135 UdeT

4. ¥ 516 nideT

Question Number : 58 Question Id : 9662319910 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The slant height of a right circular cone is 25 cm and the height is 20 cm. What is the total surface area of the

Core? (in cm2 talang m=3.14 Crry
Options:

1. % 1777 cm®

2. % 1784 cm?

3. ¥ 1834 cm?

4. % 1833 cm°

Question Number : 58 Question Id : 9662319910 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
%ﬂnﬁwm&i@fﬁﬁ@mﬁ crn o e 20 Crm 21 39 SF o Fel 9ag B SFhd 7T 57 cm# m=314cm

Options:

1. % 1777 cm®
2. % 1784 cm®
3. ¢ 1884 cm®
4. % 1888 cm®

Question Number : 59 Question Id : 9662319911 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The following table shows the revenue generated by different projects (in 000s) over different vears. What is
the average revenue earned (in 000s) from the Project C and D?

Years A B C D
2014-15 120 150 180 130
2015-16 150 200 160 120
2016-17 180 210 190 160
2017-18 200 250 125 180
2018-19 175 225 200 150
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Options:

1. ¥ Rs. 151 and RBs. 128
2. % REs. 150and Rs. 130
= ¥ Rs 171 and Rs. 148
4. % REs. 120and REs. 180

Question Number : 59 Question Id : 9662319911 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ﬁﬁ;ﬁmﬁﬁﬁaﬁﬁﬁﬁﬁwﬁﬁwﬁ (000s ) T Ioug Tored &1 ganidT g1 Theatar C &t D & arifia offad taed (000s )
T 3

gt A B c D
2014-15| 120 150 180 130
2015-16 | 150 200 160 120
2016-17| 180 210 190 160
2017-18| 200 250 125 180
2018-19| 175 225 200 150

Options:

1. % 151 #0 &fv 128 ¥04
2. % 150 w0 & 130 T
3 ¥ 171 T AR 148 T
4. % 120 w7 & 180 w2

Question Number : 60 Question Id : 9662319912 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The following line graph shows the temperature recorded at different time intervals in a day. What is the
highest percentage increase recorded?

A
=]

4
a2 3

i 36 S —

——

—

—

-9
=

(]
=

Temperature recorded (* C)
= Pt
e o

o

900 AM  10:00 AM 11:00 AM 12:00AM 1:00 PM
Time

Options:

1. % 5.35 percent
2. % 967 percent
3. % 5 62 percent
4, % 10.5 percent

Question Number : 60 Question Id : 9662319912 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks: 1 Wrong Marks: 0.25
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Options:

1.9 533 uidew
2. % 967 uiduT
3. % S el uHaT
4. % 105 uidaT
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Question Number : 61 Question Id : 9662319913 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may have an error. Find out which part of the sentence
has an error and click the button corresponding to it. If the sentence is free frorm error, select the "No error”
option.

(&) The thirteenth century, | (B) in China as in Europe, | {C) was a period of awakening. | (O No error
Options:
1. % 4
2 % B
3% C
4. ¥ D

Question Number : 61 Question Id : 9662319913 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following staternent, one part of the sentence may have an error. Find out which part of the sentence
has an error and click the button corresponding to it. If the sentence is free frorm error, select the "MNo error”
option.

&) The thirteenth century, | (B) inl China as in Europe, | (C) was a period of awaleening. | (O MNo error
Options:
1. % 4
2. % E
3%
4 ¥ D

Question Number : 62 Question Id : 9662319914 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following staternent, one part of the sentence may have an error. Find out which part of the sentence
has an error and click the button corresponding to it. If the sentence is free from error, select the Mo error”
option.

(&) & persor [ met [ (B)in the streets vesterday | (C) was Yashi's friend. | (D) No error
Options:
1.9 &
2. % E
3% C
4 % D

Question Number : 62 Question Id : 9662319914 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

In the following statement, one part of the sentence may have an error. Find out which part of the sentence
has an error and click the button corresponding to it. If the sentence is free frorm error, select the "No error”
option.

(&) & person [ met [ (B)in the streets vesterday | (C) was Yashi's friend. | (D) No error
Options:
1.9 4
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> ®F
3 % C
4 ® D

Question Number : 63 Question Id : 9662319915 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Replace the words in the bracket from the set of options given.

Jasmine lived in the town (since) 1997 to 2016,
Options:

1. ¥ from

= % in

% % within

4. % with

Question Number : 63 Question Id : 9662319915 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Replace the words in the bracket from the set of options given.

Jasmine lived in the towt (since) 1997 to 2016,
Options:
1. from

= % in
= % within
4 ® with

Question Number : 64 Question Id : 9662319916 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Eeplace the words in the bracket from the set of options given.

Lalita spent an hour discussing (on Harmlet's character),
Options:

1. % about Hamlet's character.

2. % of Hamlet's character.

3. % in the character of Hamilet.

4. % of the character of Hamlet.

Question Number : 64 Question Id : 9662319916 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Replace the words in the bracket from the set of options given.

Lalita spent an hour discussing (on Hamlet's character),
Options:

1. ¥ about Hamlet's character.

2. % of Harmlet's character.

= # in the character of Hamilet.
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4. #* of the character of Harmlet.

Question Number : 65 Question Id : 9662319917 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fill in the blanks with the appropriate word.

My friends were busy, s0 1 to the college alone.

Options:
1. % go
2. ¥ went
I % gone

4. ® ooing

Question Number : 65 Question Id : 9662319917 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fill in the blanks with the appropriate word.

My friends were busy, s0 1 to the college alone.
Options:

1. % g0

= ¥ et

3. *® gone

4. % going

Question Number : 66 Question Id : 9662319918 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The questions below consist of a set of labelled parts of a sentence. Out of four options given, select the most
logical order of the parts which form a coherent sentence.

Flastic bags those

F : polluting therm and

3 reach the soil and water bodies,
E : are not disposed properly,

5 damaging dependent lives

Options:

1. % ROSP
Z % QRSP
3. % CRPS
4. ¥ RGPS

Question Number : 66 Question Id : 9662319918 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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The questions below Cconsist of a set of labelled parts of a sentence. Out of four options given, select the most
logical order of the parts which form a coherent sentence.

Flastic bags those

F : polluting therm and

3 reach the 501l and water bodies,
E : are not disposed properly,

5 damaging dependent lives

Options:

1. % ROSP
= #® QRSP
3. % CRPS
4. % ROFS

Question Number : 67 Question Id : 9662319919 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
out of the four alternatives, choose the word which best expresses the meaning of the Zivern word.

Eoisterous
Options:

1. # Sharp
2 ¥ Rowdy
3. % Calm
4 ® Idle

Question Number : 67 Question Id : 9662319919 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Cut of the four alternatives, choose the word which best expresses the meaning of the given word.

Eoisterous
Options:

1. % Sharp
2. ¥ Rowdy
3. % Calm
4 % Idle

Question Number : 68 Question Id : 9662319920 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Out of the four alternatives, choose the word which is OFPOSITE in meaning to the given word,

Drorrrant
Options:

1. ¥ Passive
= ¥ Active
3. % Dead
4. #® Asleep
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Question Number : 68 Question Id : 9662319920 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Out of the four alternatives, choose the word which is OFPOSITE in meaning to the given word,

Drorrrant
Options:

1. ¥ Passive
= ¥ Active
3. % Dead

4. #® Asleep

Question Number : 69 Question Id : 9662319921 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which only one word 15 spelt correctly, Choose the correctly spelt word.,

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.

Options:

1. Indite

Z. Indict

3. Indicte

4. Indit

Question Number : 69 Question Id : 9662319921 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which only one word is spelt correctly. Choose the correctly spelt word.

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.

Options:

1. Indite

2. Indict

3. Indicte

4. Indit

Question Number : 70 Question Id : 9662319922 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that 15 spelt correctly,

Options:

1. % calendar
Z. % calander
2. % calendear

4 % callender

Question Number : 70 Question Id : 9662319922 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that is spelt correctly.

Options:
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1. % calendar
= % calander
= # rcalendear

4 % callender

Question Number : 71 Question Id : 9662319923 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which only one word 15 spelt correctly. Choose the correctly spelt word.

Options:

1. % Pernicious
2. ¥ Perncious
% % Perncois

4 # Pernicios

Question Number : 71 Question Id : 9662319923 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which only one word is spelt correctly. Choose the correctly spelt word.

Options:

1. % Pernicious
2. % Perncious
Z. % Perncois

4 ® Pernicios

Question Number : 72 Question Id : 9662319924 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
Wwhat does the following idiom mean?

Full vourself together
Options:

1. # Torun out of patience
2. % To get angry

Z. ¥ To calm down

4. % To go to sleep

Question Number : 72 Question Id : 9662319924 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What does the fOllOW‘iI]g 1dicrr mean’

Full vourself together
Options:

1. # Torun out of patience
2. % To get angry

z. ¥ To calm down

4. % To go to sleep
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Question Number : 73 Question Id : 9662319925 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the option that best expresses the meaning of the idiom or phrase giverl below.

To cross a bridge before one comes to it

Options:

1. ® Toenter a potentially dangerous place or zone

2. % To meet and spend time people who are powerful or famous
= % To fight a sworn enemy

4, ¥ To worry about the future in advance

Question Number : 73 Question Id : 9662319925 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the option that best expresses the meaning of the idiom or phirase giverl belosw,

To cross a bridge before one cormes 1o it

Options:

1. ® Toenter a potentially dangerous place or zone

2. % Tomeet and spend time people who are powerful or famous
= % To fight 8 sworn enermy

4. ¥ To worry about the future in advance

Question Number : 74 Question Id : 9662319926 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, cut of four alternatives, select the alternative which is the best substitute of the
words | senterices.

Cne who walks on a tightrope.
Options:

1. ¥ Funarmbulist

2. % Apnostic

% % Calligrapher

4. ® Apostate

Question Number : 74 Question Id : 9662319926 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of four alternatives, select the alternative which is the best substitute of the
wiords | sentences.

COne who walks on a tightrope.
Options:

1. ¢ Funambulist

2. % Apnostic

3. ® Calligrapher

4. % Apostate
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Question Number : 75 Question Id : 9662319927 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate '‘one word' for the expressions given below.

& person who loves mankind.
Options:

1. % Anthropologist

2. % Philosophist

2. ¥ Philanthropist

4. # Philologist

Question Number : 75 Question Id : 9662319927 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the most appropriate 'one word' for the ERPIEsSI0NSs giverl helow,

& person who loves mankind.
Options:

1. * Anthropologist

2. % Philosophist

2. % Philanthropist

4. % Philclogist

Sub-Section Number: 2
Sub-Section 1d: 966231455
Question Shuffling Allowed : Yes

Question Id : 9662319928 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
Juestion Label - Comprehension

Read the passage carefully and answer the given question:

The Great Depression (@lso know in the UF. as the Great Slump) was a dramatic, worldwide econormic
dowmturn beginning in some countries as early as 1928, The beginning of the Great Depressiorn in the United
States is associated with the stock market crash on October 29, 1929, knowr as Black Tuesday. The
depression had devasting effects in both the industrialized countries and those which exported raw materials.
International trade declined sharply, as did personal incomes, tax revenues, prices and profits. Cities all
arcurd the world were hit hard, especially those dependent on heayy industry. Construction was virtually
halted in many countries. Farming and rural areas suffered as crop prices fell by 40 to 60 percent. Facing
plurmmeting demand with few alternate sources of jobs, areas dependent on primary sector industries such as
farming, mining and logging suffered the most. At the time, Herbert Hoover was the President of United States.

Sub questions

Question Number : 76 Question Id : 9662319929 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhen did the Black Tuesday happen?

Options:
1. % 28th October, 1925
2 % 29th October, 1929
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= ¥ 25th October, 1927
4. % Zoth October, 1930

Question Number : 77 Question Id : 9662319930 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which incident is associated with Elacl: Tuesday™”

Options:

1. % Terrorist attack

2. % Increase in primary industries
% % Growth of heavy industries

4. ¥ Stock market crash

Question Number : 78 Question Id : 9662319931 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
By how much did the crop prices fall in rural areas during the Great Depression?

Options:

1. % 40 to 60 percent
2. % 30 to 40 percent
3. % 20to 30 percent

4, % g0 to 80 percent

Question Number : 79 Question Id : 9662319932 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is not an example of primary sector industry?

Options:

1. % Farrming

2. % Mining

= % Logging

4. ¥ Light manufacturing

Question Number : 80 Question Id : 9662319933 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwho was the President of the United States at the time of Great Depression?

Options:

1. % Bill Clinton

2. % George HW. Bush
Z. ¥ Herbert Hoover

4, % George Washington

Question Id : 9662319928 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
Cuesticon Label | Comprehension
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Read the passage carefully and answer the given question:

The Great Depression (@lso knowr in the K. as the Great Slump) was a dramatic, worldwide econormic
dowmiturn beginning in some countries as early as 1928, The beginning of the Great Depressiorn in the United
States is associated with the stock market crash on October 29, 1929, knowr as Black Tuesday. The
depression had devasting effects in both the industrialized courntries and those which exported raw materials.
International trade declined sharply, as did personal incomes, tax revenues, prices and profits. Cities all
around the world wwere hit hard, especially those dependent on heavy industry. Construction was virtually
halted in many countries. Farming and rural areas suffered as crop prices fell by 40 to 60 percent. Facing
plurmmeting demand with few alternate sources of jobs, areas dependent on primary sector industries such as
farming, mining and logging suffered the most. At the time, Herbert Hoover was the President of United States.

Sub questions

Question Number : 76 Question Id : 9662319929 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
When did the Elack Tuesday happen?

Options:

1. % 28th October, 1929
2. ¥ 29th October, 1929
2. % 28th October, 1927

4. % 29th October, 1930

Question Number : 77 Question Id : 9662319930 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which incident 15 associated wiath Elack Tuesday™

Options:

1. % Terrorist attack

2 % Increase in primary industries
2. # Growth of heavy industries

4. ¥ Stock market crash

Question Number : 78 Question Id : 9662319931 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
By how muach did the crop prices fall in rural areas during the Great Depression?

Options:

1. ¥ 40 t0 B0 percent
2. % 320 to 40 percent
2. % 20 to 30 percent

4. % B0 to 80 percent

Question Number : 79 Question Id : 9662319932 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the following is not an example of primary sector industry?

Options:

1. ® Farrming
= % Mining

3. % Logging
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4. ¥ Light manufacturing
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Question Number : 80 Question Id : 9662319933 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.25

who was the President of the United States at the time of Great Depression?

Options:

1. % Bill Clinton

2. % George HW. Bush
=. % Herbert Hoover

4, % George Washington

Group Number :
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Group Maximum Duration :
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Revisit allowed for view? :
Revisit allowed for edit? :
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Group Marks:

Revisit allowed for group Instructions? :
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Section Number :
Section type:
Mandatory or Optional:
Number of Questions;
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Section Marks:
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Group All Questions:

Sub-Section Number:
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Question Number : 81 Question Id : 9662319934 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.25

TRy ng §, T et § 8, 39 e @7 == o ST J0ET & 74T
Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al

candidates.
Options:
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1. yura
2. TEaT
=, AR
4, TaE

Question Number : 81 Question Id : 9662319934 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TEfaET vg # or et # € 39 B &1 299 @ ST 3ot & a97 8

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.

Options:

1. yoe

2. T

3 TMETE

4 TeE

Question Number : 82 Question Id : 9662319935 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TieiET ng H, oW Sweat § 8, 39 @1 e @7 o0 @ A Uedd | o4 952 &1

Options:

1. % amEr
2 ® fomm
3 % |wme
4 & e

Question Number : 82 Question Id : 9662319935 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TRET mg §, O Eeed! § 9, 39 |51 Td@wed &1 =4 @ A7 Todd o &7 923, 2l

Options:

1. % amEw
2 % TEEm
3 % gme
4 e

Question Number : 83 Question Id : 9662319936 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Torr Ty AT | Tk wT T gid R

Options:
1. % FaitE
e A
3 % gprEr
4. ¥ 3
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Question Number : 83 Question Id : 9662319936 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Te T A # ol v ET i e

Options:
1. % Fity
2 % g
I % ammEn
4 ¥ ST

Question Number : 84 Question Id : 9662319937 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR ng #, oW Awedt § 9, 39 ey @ g & S G F 98 aTET 91 Hwed 5

Y St Ty 9 T & e
Options:

1. % efarierr e

2. % qmrg

3. TR TR

4 % FreewTiciar foaT

Question Number : 84 Question Id : 9662319937 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT vg  gr et # € 39 Teen @1 o0 @ 1 AT F 9 91T 99t DT g

B St 1T o i @ e
Options:

1. % i R

2. % amUg

= ¥ IRl T

4 % FroewTieie foar

Question Number : 85 Question Id : 9662319938 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT vg §, o Teent § |, 39 [Soe @7 4= o A7 GHERiT See o7 |1 dwed a5l 5l

o7
Options:
1. % 1g
o % 2
3 o
4 % foT

Question Number : 85 Question Id : 9662319938 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % 1g
2 % 2
3 v
4 ® e

Question Number : 86 Question Id : 9662319939 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T vg §, o Teent § 8, 39 oo o7 =70 & A1 TSR = @ gad e Swed 51

ST
Options:

1. % gria
2 % fuwer
2 ® fIam
4« giica

Question Number : 86 Question Id : 9662319939 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TrafeiaT ng |, ow wedt § 9 30 [Swen 371 a9 & A1 BT Jeg @7 qad =0T 9w 5

T
Options:

1. % gEie
2. % fumar
3. % fam
4. ¢ udiea

Question Number : 87 Question Id : 9662319940 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tam i e # Tk T 7 gfE

Options:
1. % 3

o I
A T
4. # qERT

Question Number : 87 Question Id : 9662319940 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Terr T AT | TR wT F gid dra
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Options:
1. %3

o ¥ I
. % gy
4 % gEnRT

Question Number : 88 Question Id : 9662319941 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tt ng | o Bwedt § 9 39 99t Heed @7 oo w1 arat & W0 uw geg @ Swew gh

it & A F g T
Options:

1. % oo

o, % T

3. ¥ Ty

4. % TR

Question Number : 88 Question Id : 9662319941 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR ng #, oW fawed! § 9, 39 d51 Twed @7 a4 @ 91 aaiat & @0 UF deg @7 foded 51

ATt & FE- F T
Options:

1. % weay

2. % T

3 ¥ Ty

4, ® TR

Question Number : 89 Question Id : 9662319942 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tar My e & fol v T T i

Options:

1. & TeT AT
o % Fmit
z %

4 ® FrET

Question Number : 89 Question Id : 9662319942 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

o g A o Tl w E g drm
ST H R e __ | (ATEET=
Options:

1. & et AT
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2 % St
3 %
4 ® Frt

Question Number : 90 Question Id : 9662319943 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TaEET v §, O Seen #§ °, 39 [Swe @7 =49 o A1 50 7 a9 & W0 I & 9T 9 9y R8T [Hwe 2

ST T T AT F1 ST =T =497 2580
Options:

1. % wreamef

o % magmf

=, o Heamd

4. ¥ Treaef

Question Number : 90 Question Id : 9662319943 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T vg § o Bweat § 9, 39 Pwen @1 =9 w6 =1 =By mo aer & o g & d @ g T ey 3

ST =T THE T T a1 SR IR 9= 20
Options:

1. % wurasmef

2. % wagef

3. o oo

4. ® Teef

Question Number : 91 Question Id : 9662319944 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T ng H, oW Hwed! § 8, 39 Hwed &7 909 & A1 1o M7 e & 00 gt 3 9 97 el 38T dweT 31

T & T AT T AT G 5N
Options:

1. % wegrf

2. % Toant

3. % waaref

4 & gvamef

Question Number : 91 Question Id : 9662319944 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR ng H, oW Hwedt § 9, 39 THwed @ a9 @ A1 150 M7 ae & O g 3 9T 9 T SRET wed gl

T 5 T AT T AT FETd N
Options:

1. % wmagnf

2. % Toegamet

3 % mHepamef



https://www.adda247.com/?srsltid=AfmBOor-AwSwfx4DKpITSMBmvlUtFUzE-xzbXgcfF9madx829S9klhOd
https://play.google.com/store/apps/details?_gl=1*1eizu0t*_gcl_au*MTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

=

4 & Tt

Question Number : 92 Question Id : 9662319945 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TateET vg #, o Bweat § 9, 39 Pwen @1 a9 w6 =1 =g my aer & g g o A @ we et Heed 3

Tig=T Teeete & oa w27 i
Options:
1. % e

2. % it
z. o magmf
4. % Toysgramef

Question Number : 92 Question Id : 9662319945 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR ng #, oW fHwedt § 9, 39 Hwed @ a9 @ A1 150 1Y ae & O g 3 95 9 T SRET wed gl

TR e & o UST 51
Options:

1. % forezpef

o % wHepgref

3. ¥ wagel

4 ® gt

Question Number : 93 Question Id : 9662319946 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TateaT v . oR Beedt # 9, 39 Twey &7 =3 #1750 My gRTa w1 i o anen deed g

T FTeT & AT
Options:

1. % A 7 7

2. ¥ gur T e AT
% % T g

4. ¥ {HA GoH 5T AT

Question Number : 93 Question Id : 9662319946 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TEmET vg |, ox Hweat # €, 39 Seer @1 o0 ) A1 Ty Ty gead @1 95 aref e ey 81

T ETeT & AT
Options:

1. % 7y = am=m

2. & U7y 7 e AT
3. % HeT g

4, % [ ToH 5T AT
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Question Number : 94 Question Id : 9662319947 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ty va §, ox Bt 8 €, 39 Twey @7 o9 = 1 oy my ggrat @1 a5t anf are Hee g1

T TawTm

Options:

1. & U\ & T &
= R TEAN wEm

3. % T

4, % TegT EE

Question Number : 94 Question Id : 9662319947 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TrafafaT vg # o fawedt # 9 20 ey @1 o007 w8 = fag mo gere @ agt e arar fawen B
1 Tergmm

Options:

1. & U & T @

2 % ToAN mEm

3. % ST

4 % [T S

Question Number : 95 Question Id : 9662319948 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
oty va /. ox Beedt § 9, 39 Swey @1 o9 @) A1 foom g g% o9 o7 9g1 iweT gh

Options:

1. % HTRT T aTAARA, A1 o fdea # nithg §, 997 9N | 3
2. % TR THEA, Al T TR 0§ S g # R
3. ¥ TR &1 T Hew, A1 10 [ | nieeg §, 309¢ 97 | 21
4, % qTTRT T TTIHEA AT 1oF T § Tieeg 2 390 9Rg | 21

Question Number : 95 Question Id : 9662319948 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafeRET na 8, o el # 4, 39 owew @7 gom & =1 Ty o 9% o 7 981 fa@ed 20

Options:

1. % HTTRT &7 ITAAgA, A1 & 9o # 0ieeg §, F9¢ 9T | &1
2. ® NURT® THEA, "I i e A nieE T s g A
%, & TR &1 9T HEA, A1 19 Toea H# nidhg §, 39 AT | 21
4, ¥ T T TTHEA =1 o 2ear # Uithg § TS aRg # 8

Sub-Section Number: 2
Sub-Section 1d: 966231457
Question Shuffling Allowed : Yes
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Question Id : 9662319949 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (96 to 100)
Cesticn Label | Comprehension

Tl TeT T 5 TR e AgEE 0 S A fwedt § & weder W W adiol 5o g

ToaT Teg Terrreater ATy 21 ST R0 56 SRE!, TRET s & Hud § s 39 Mg TE0 H o aﬁdﬁﬁﬁﬁmﬁaﬁaﬁg?
mﬁﬁw—ﬁ%wmaﬁmmﬁﬁmﬂ%ﬁgﬁmw YT 8. T TR AG- ST AR ag, S
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Sub questions

Question Number : 96 Question Id : 9662319950 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Options:

1. % wmF

2. ¥ Ong e

2 ® fdwteT

4 % aricEpiET

Question Number : 97 Question Id : 9662319951 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT T 10T AT T 7

Options:

1. & gaer st 3 eal B o el g
2. % T ¥ et T T A
3. % el AT g W

4 % T7ieft St ERT A9 Fl we @

Question Number : 98 Question Id : 9662319952 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT H TE 5 7 d2aTd o TAT 5H e 1T &7 e T25-1T ATiE0?

Options:

1. % STT9T T TEET o S
2. % FEATAEN

3. & AT BT T AT T EN
4. % T gk ToH TS

Question Number : 99 Question Id : 9662319953 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
0 | T -W1 T B T I T8l 57
Options:

1. %

2. % gierm
3. ® ol
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Question Number : 100 Question 1d : 9662319954 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T ST W HIE JUgE d:
Options:

1. % g ake

2 ® I MEg

2 ® ST g

4, & TEET T

Question Id : 9662319949 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (96 to 100)
Cuesticon Label | Comprehension

et T T g ey @ eaEe ud o o et @ uede e @ Hellaw I8 g

T T Forararsiier T 21 ot S ROT se ey, BT anfe T H0d H R 39 g TR A o Waﬁsﬁ%mﬁaﬁaﬁg?
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Sub questions

Question Number : 96 Question Id : 9662319950 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
SIJEHE, o SRTATC Todl Al | 7
Options:

1. % e

2. ¥ \ng Hemaata

3 ® fdwieT

4 ® arfeered

Question Number : 97 Question Id : 9662319951 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
SITST T T 7 €17 27

Options:

1. & gaet st & deafl @i o el g
2. % Full AT ¥ gt FT T o
3. % e A g @

4. % TV AT ERT AT THF FHA FT

Question Number : 98 Question Id : 9662319952 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AT H #ETE 51 ¥ dadd o 97T 5H Tohd o719 @1 & &1 dA1E07
Options:

1. % 9TT9T T TIE g A

2 % gEATAEN
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Question Number : 99 Question Id : 9662319953 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TAH | FI-HT TIET T I aa= T8l 57

Options:

1. % sMar
2. % gierm
% % ot
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Question Number : 100 Question 1d : 9662319954 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T ST W RIE JUgd dia:
Options:

1. % g ake

2 ® I MEg

2 ® ST g

4, & TEET T

Group Number :

Group Id:

Group Maximum Duration :
Group Minimum Duration :
Revisit allowed for view? :
Revisit allowed for edit?:
Break time:

Group Marks:

Revisit allowed for group Instructions? :

Maximum Instruction Time:
Minimum Instruction Time:

Section Id :

Section Number :
Section type:
Mandatory or Optional:
Number of Questions;

Number of Questionsto be attempted:

Section Marks:
Display Number Panel:
Group All Questions:

Disciplinel

6
966231289
0

0
No
No
0
20
Yes
0

0

Disciplinel
966231404

1

Online
Mandatory
20

20

20

Yes

No

GET IT ON
Google Play
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Sub-Section Number:
Sub-Section | d:
Question Shuffling Allowed :

Question Number : 101 Question Id : 9662319955 Question Type:

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.25

Supervision 1s:
Options:
, = tuming upwards

> w lying on one side

GET IT ON
Google Play

1
966231458
Yes

MCQ Option Shuffling : Yes Display Question Number : Yes

-  verbal encouragement and observation with the task

4 ®

« lying down in a dorsal position with a pillow under the head

Question Number : 101 Question Id : 9662319955 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.25

UIIETOT FIT &7
Options:
, T FH AR 7@

> % THh TE oIl

o v T & T AGE ScaEa AR sEeend

, o« B A T e & wm goiw Ry # S

Question Number : 102 Question Id : 9662319956 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.25

Dryness of the mouth is also called:
Options:

; % glossitis

stomatitis

turgidity
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4 « Xerostomia

Question Number : 102 Question Id : 9662319956 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
HE F GUUA & A FIT FHgl AT g2

Options:

4 v SRIERIAST

Question Number : 103 Question 1d : 9662319957 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
An example of politico-economic factors that may affect maintenance of a safe environment are:

Options:
1 « finances

-, u anxiety

5 % smoking

4 % beliefs

Question Number : 103 Question Id : 9662319957 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T feies-3Tees SR &1 T 3ETEI0T AT AT aTareror F IEIETE H1 FeAIfad FT el &

Options:

1.4 ERS
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Question Number : 104 Question Id : 9662319958 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A body fluid found in joints is called:

Options:
, = peritoneal fluid

- « synovial fluid

- % cerebrospinal fluid

4 % amniotic fluid

Question Number : 104 Question Id : 9662319958 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

et F 9T S I v iy ST 9Ty v 4T FEr ST 27

Options:

|y T (RafEe) S
5 o o9 ITel

5 % FHIEISHAT alel
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Question Number : 105 Question Id : 9662319959 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The reason for regular practice of hand-washing techniques in hospitals is for the:

Options:
. = prevention of posture related degenerations

-  Drevention of cross-infection

- % prevention of attitude related sickness
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4 = maintenance of oral hygiene

Question Number : 105 Question 1d : 9662319959 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

| % HTHS FETEF ey # Fawor
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Question Number : 106 Question Id : 9662319960 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The extra-cellular fluid content in our body is around:

Options:
1 % 3 litres

- % 6 litres
=z % 9 litres

4 o 12 litres

Question Number : 106 Question Id : 9662319960 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 107 Question Id : 9662319961 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Voice box is another name for the:
Options:

| o larynx

> % pharynx

5 % Oesophagus

4 % stomach

Question Number : 107 Question Id : 9662319961 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Options:

| v A | T
o % BRFE [ THAT
5 % STEAA

4 % JTETIT

Question Number : 108 Question Id : 9662319962 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

New-born babies generally require sleep for about:
Options:

0 hours a day

DR

-~ # 9hoursaday

- % 12hours aday

4 « 16hours aday
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Question Number : 108 Question Id : 9662319962 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AaeTa et # wE ¥ T i #7 ETear g

Options:

L« @ F 6T
. x R HO9 T
% B H 129

v B F 16 T

Question Number : 109 Question Id : 9662319963 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The amount of water excreted as urine per day is about:

Options:
1 % 100ml

> % 500ml
z % 1000ml

4 « 1500ml

Question Number : 109 Question Id : 9662319963 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
gfa for 77 & ¥ & 3cafag I=r & A fhaar ger 82

Options:

% 100 ml

, % 500 ml
- = 1000 ml

4 « 1500 ml
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Question Number : 110 Question Id : 9662319964 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Heat stroke usually occurs at temperatures around:

Options:
| % 35-36°C
> % 36—37°C
3 % 38—40°C
o Y- A28

Question Number : 110 Question Id : 9662319964 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

FEATET HTH 4T T IIATT 9T 8T 2
Options:

, % 35 | 36°C
> % 36 & 37°C
- » 38 & 40°C

4 v 41 ® 42°C

Question Number : 111 Question Id : 9662319965 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The neurotransmitter that decreases feeding is:

Options:
|« leptin

endorphins

ma
#

3 % cortisol

4 = ghrelin

Question Number : 111 Question Id : 9662319965 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 112 Question Id : 9662319966 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The energy liberated from each gram of carbohydrates is:

Options:
1 « 4.1 calories

- % 9.3 calories
= % 6.2 calories

4 # 8.3 calories

Question Number : 112 Question Id : 9662319966 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FEEEEE & Tcds TH F T HFT gl &

Options:

@ 41 F
5 ® 9.3 FHardr
s ® 6.2 FHarr
4 % 8.3 FArT

Question Number : 113 Question 1d : 9662319967 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Excess bilirubin in the plasma causes:
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Options:
1 = Cyanosis

> o Jaundice

5 u Cystic fibrosis

4 % Leukaemia

Question Number : 113 Question 1d : 9662319967 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

weAT & sfafes Reifia e & g &
Options:
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4 % YaCEFddr

Question Number : 114 Question Id : 9662319968 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Hepatic coma is due to the elevated plasma levels of:

Options:
, » amylase

5 o/ ammonia
% % albumin

4 % adenosine

Question Number : 114 Question Id : 9662319968 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 115 Question Id : 9662319969 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Secondary bile acid is:

Options:
1 # taurocholate

- % cholic acid
= « lithocolic acid

4 = chenodeoxycholic acid

Question Number : 115 Question Id : 9662319969 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

efadoes Reg 39 &

Options:

1_%%@%
5 % SIToleR 37

5« Tertsifess Jra

4 % PIATSHFHRIF HEaT

Question Number : 116 Question Id : 9662319970 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
An essential component of glutathione peroxidase is:

Options:
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1 + selenium

- % Ccopper

3 ® Zine

4 % Inanganese

Question Number : 116 Question Id : 9662319970 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
RIS RFESE &1 0 faad uee g :

Options:

| v Telfeas
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Question Number : 117 Question Id : 9662319971 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

Profound memory problem with no loss of consciousness is called:
Options:

, « lransient global amnesia

- % retrograde amnesia

- u anterograde amnesia

4 # memory loss

Question Number : 117 Question Id : 9662319971 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 118 Question Id : 9662319972 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The process of converting physical energy into nervous system activity is called:

Options:
. w receptor potential

- « transduction

- w generator potential

4 % Kkinesthesis

Question Number : 118 Question Id : 9662319972 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 119 Question Id : 9662319973 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Techniques that enable individuals to project their internal feelings, attitudes. needs or values on a test stimuli and in the

process unconsciously reveal their personality is called:

Options:
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, = hypnosis
> % reinforcement

5 » relaxation technique

4  Drojective techniques

Question Number : 119 Question Id : 9662319973 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 120 Question Id : 9662319974 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Measures taken to prevent the onset of a disease or a disorder is called:
Options:

, = primary promotion

-  Drimary prevention

- % secondary prevention

4 = tertiary prevention

Question Number : 120 Question Id : 9662319974 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 121 Question Id : 9662319975 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Health care delivery teams made up of persons from various disciplines who share responsibilities. authorities and

decision making are called:

Options:
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, « interdisciplinary teams

- u multidisciplinary teams

- % transdisciplinary teams

, = intradisciplinary teams

Question Number : 121 Question Id : 9662319975 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 122 Question Id : 9662319976 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Couples who may be childless by choice are called:

Options:
| % parents

o o dyads

5 u family

4 # pairs

Question Number : 122 Question 1d : 9662319976 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 123 Question Id : 9662319977 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Name the type of family that is formed when biologically unrelated individuals. couples or families live together and

jointly carry out family functions.
Options:
, = Heterosexual family

- » Extended family

5 o Communal family

4 = Homosexual family

Question Number : 123 Question 1d : 9662319977 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 124 Question Id ;: 9662319978 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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A situation in which a family’s or individual’s balance is disrupted, requiring development of new coping strategies is
called:
Options:

1 % transition

-~ = stagnation

5 u strategies

4 « Crisis

Question Number : 124 Question Id : 9662319978 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 125 Question Id : 9662319979 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Breast fibroadenomas are usually detected incidentally during clinical or self-examination and are usually located in the:

Options:
| « Upper outer quadrant

> % lower outer quadrant

5 # Upper inner quadrant

4 = lower inner quadrant

Question Number : 125 Question Id : 9662319979 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25


https://www.adda247.com/?srsltid=AfmBOor-AwSwfx4DKpITSMBmvlUtFUzE-xzbXgcfF9madx829S9klhOd
https://play.google.com/store/apps/details?_gl=1*1eizu0t*_gcl_au*MTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

ddabr

T FIEAIUEAAT WHTT: Al a7 T-9{e70r F e §9T § uiv 9 ¥ ik g e A

Options:

l_gﬁmamﬂﬁa Ell

fowst (forren) smeT =rquirer

> R

o Waﬂﬁfr?@rﬁar

|, e el ot

Question Number : 126 Question Id : 9662319980 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A dilation and inflammation of the ducts behind the nipple is called:

Options:
, = intraductal papilloma

> o duct ectasia
5 % mastitis

4 % fibroadenomas

Question Number : 126 Question Id : 9662319980 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 127 Question Id : 9662319981 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Cancer that has metastasised to other body organs is presented at what stage in classifying breast cancer?
Options:

; = Stagel

5 % Stage II

5 % Stage III

4 StageIV

Question Number : 127 Question Id : 9662319981 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 128 Question Id : 9662319982 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The second stage of labour ends with:
Options:

1 « the birth of the new-born

- % strong uterine contractions

- » asudden gush of dark blood from the vaginal opening

4 # achange in uterine shape from discoid to globular ovoid

Question Number : 128 Question Id : 9662319982 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 129 Question Id ;: 9662319983 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Kegel exercises as a method of controlling incontinence in women after childbirth and helps to strengthen the:

Options:
; = upper limb muscles

> % chest muscles
- % abdomen muscles

4 « Dpelvic floor muscles

Question Number : 129 Question Id : 9662319983 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Correct Marks: 1 Wrong Marks: 0.25

An instrument that measures foetal oxygen saturation directly and in real time is:
Options:

, « foetal pulse oximetry

- u foetal scalp stimulation

% % vibroacoustic stimulation

4 = ultrasonography

Question Number : 130 Question Id : 9662319984 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 131 Question Id : 9662319985 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
History that includes a menstrual, obstetric and gynaecologic history is called:

Options:

, » family history
» reproductive history
sexual history

4 % genetic history

Question Number : 131 Question Id : 9662319985 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 132 Question Id : 9662319986 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Identify the disorder when a single gene in the heterozygous state is capable of producing a phenotype:

Options:
1 % X-linked inherited disorders
- % autosomal recessive inherited disorders

= « autosomal dominant inherited disorders

4 % multifactorial inherited disorders

Question Number : 132 Question Id : 9662319986 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Correct Marks: 1 Wrong Marks: 0.25
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Name the investigating procedure which involves taking x-ray pictures of the bare breasts while they are compressed
between two plastic plates.

Options:

, = sentinel lymph node biopsy

- » stereotactic needle-guided biopsy

- » fine-needle aspiration

4  mammography

Question Number : 133 Question 1d : 9662319987 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 134 Question Id : 9662319988 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Carbohydrates are divided into simple carbohydrates such as:
Options:

1 + monosaccharides and disaccharides

- u oligosaccharides and polysaccharides

5 » proteins and fibres

, w amino acids and enzymes

Question Number : 134 Question Id : 9662319988 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical


https://www.adda247.com/?srsltid=AfmBOor-AwSwfx4DKpITSMBmvlUtFUzE-xzbXgcfF9madx829S9klhOd
https://play.google.com/store/apps/details?_gl=1*1eizu0t*_gcl_au*MTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

ddabr

Correct Marks: 1 Wrong Marks: 0.25

FEEESe T T FE@Ese § aag & Jar g, 350 & B
Options:

| » AErEERTsE AR FEess

o HICRIHHTSE AR dTeldess

L« e AR FEE

, » UfAaAT 3 3R TasA

Question Number : 135 Question Id : 9662319989 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
How many kcal of energy per gram do fats provide?
Options:

1_&&5

> o 9
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Question Number : 136 Question Id : 9662319990 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A condition in which there is an inadequate consumption. poor absorption or excessive loss of nutrients is called:
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Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1 over nutrition
» malnutrition
% undernutrition

4 €xXcess nufrition

Question Number : 136 Question 1d : 9662319990 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 137 Question Id : 9662319991 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
An autosomal recessively inherited disease that has been mapped to chromosome llq is called:

Options:
1 % mneurofibromatosis

- % tuberous sclerosis

5 = vonHippel-Lindau disease

i ataxia-telangiectasia

Question Number : 137 Question 1d : 9662319991 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Question Number : 138 Question Id : 9662319992 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A chronic infectious disease caused by the mycobacterium tuberculosis is:

Options:
1 « tuberculosis

- % bronchitis

5 % pneumonia

4 % brucellosis

Question Number : 138 Question Id : 9662319992 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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The administration of all or part of a pathogen or preformed antibodies to elicit an immunological response that protects

from disease is called:
Options:
1 % vaccination

- # seroconversion

- % Seroprotection

4 « immunisation
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Question Number : 140 Question Id : 9662319994 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Rectal medications are typically supplied in the form of:
Options:

| « Suppositories

- » liquid

= % crushed tablets

4 # Opened capsules
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Correct Marks: 1 Wrong Marks: 0.25
Nasally administered medications are typically:
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Options:
, % inliquid form

5 o drops
=z # crushed tablets

4 = opened capsules

Question Number : 141 Question Id : 9662319995 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 142 Question Id : 9662319996 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Subcutaneous (SQ) administration distributes medication into the:

Options:
, = epidermis

- % muscle

5  fatty layers

4 % Venous

Question Number : 142 Question Id : 9662319996 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 143 Question 1d : 9662319997 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
An acute respiratory disorder characterized by paroxysmal cough (whooping cough) and copious secretions is called:

Options:
1 % scarlet fever

- u diphtheria

= % tetanus

i o pertussis

Question Number : 143 Question 1d : 9662319997 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 144 Question Id : 9662319998 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Current recommendations for first mumps immunisation is between:

Options:
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1 #% &8—11 months
> o 12— 15 months
z % 16— 18 months

4 % 2 — 4 years

Question Number : 144 Question Id : 9662319998 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 145 Question Id : 9662319999 Question Type: MCQ. Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A process that occurs when a proximal segment of bowel “telescopes’ into a more distal segment. causing oedema.

vascular compromise and ultimately, partial or total bowel obstruction is called:
Options:
. = Dbeptic ulcers

gastroesophageal reflux

o R

appendicitis

i
®

i o intussusception

Question Number : 145 Question Id : 9662319999 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 146 Question Id : 96623110000 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Gas gangrene is associated with:

Options:

, « Cclostridium perfringens

- % clostridium tetani

5 % Cclostridium novyi

4 = clostridium histolyticum

Question Number : 146 Question Id : 96623110000 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 147 Question Id : 96623110001 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Spherical-shaped bacteria are called:
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Options:
1 % bacilli

- o Ccocci
5 % vibrios

4 w spirilla

Question Number : 147 Question Id : 96623110001 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 148 Question Id ;: 96623110002 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Bacteria which derive their energy from sunlight is called:

Options:
, w» chemotrophs

- % autotrophs

-  phototrophs

4 # heterotrophs

Question Number : 148 Question Id : 96623110002 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:


https://www.adda247.com/?srsltid=AfmBOor-AwSwfx4DKpITSMBmvlUtFUzE-xzbXgcfF9madx829S9klhOd
https://play.google.com/store/apps/details?_gl=1*1eizu0t*_gcl_au*MTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

ddabr

x TEIEST (FHEH)

1 | e

o » FONT (HEEH)
o TEAAET (BREIEITH)

. w TASHETNT (Fele)

Question Number : 149 Question Id : 96623110003 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
An example of moist heat is:

Options:
, = flaming
> % incineration

= % hot air oven

P steam under pressure

Question Number : 149 Question Id : 96623110003 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 150 Question Id ;: 96623110004 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The innermost layer of the heart is called:

Options:
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, = serous pericardium

- u fbrous pericardium

- % myocardium

4 + endocardium

Question Number : 150 Question Id : 96623110004 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 151 Question Id : 96623110005 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The vibration of valves and ventricular walls during the second phase of ventricular filling when the atria contracts.

produces the:
Options:
1 % first heart sound

- % second heart sound
% % third heart sound

4 « fourth heart sound

Question Number : 151 Question Id : 96623110005 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 152 Question Id : 96623110006 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Inflammatory mediators NOT involved in the pathogenesis of asthma is called:

Options:
1 « adrenaline

-~ = prostaglandins

= # leukotrienes

4 % histamine

Question Number : 152 Question Id : 96623110006 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 153 Question Id : 96623110007 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The accumulation of pus in the pleural cavity is called:
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Options:

2 hydrothorax

e

> % pneumothorax

%z % hemothorax

4  €mpyema

Question Number : 153 Question 1d : 96623110007 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 154 Question Id : 96623110008 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The removal of fluid from the pleural sac to drain fluid or identify the contents of the fluid is called:
Options:

1 « thoracentesis

- % amniocentesis

5 w Villous sampling

g % pericardiocentesis

Question Number : 154 Question 1d : 96623110008 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 155 Question Id : 96623110009 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The structure of the neuron that helps in receiving signals is:

Options:
1 « dendrites

5 #% axon
3 % terminals

4 = cellbody

Question Number : 155 Question Id : 96623110009 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 156 Question Id : 96623110010 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A stroke is also called:
Options:
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, = coronary artery disease

- u Dperipheral vascular disease

3 « cerebrovascular accident

4 % myocardial infarction

Question Number : 156 Question Id : 96623110010 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Naa R A AT s T 3T T &
Options:

| ECTUHFSAT 9T
. » IRT FrfgeET U
B_t_?:l:r%mﬁ'r%'nﬁngém

L % Rl UeRETe

Question Number : 157 Question Id : 96623110011 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Abnormal electrical activities in the brain is detected by:
Options:

, = electrocardiogram

-  electroencephalogram

- % electromyogram

4 = nerve conduction study

Question Number : 157 Question Id : 96623110011 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 158 Question Id : 96623110012 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Paralysis of all the four extremities is called:
Options:

, = mmonoplegia

> w paraplegia

5  Qquadriplegia

, # hemiplegia

Question Number : 158 Question Id : 96623110012 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 159 Question Id : 96623110013 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In lumbar puncture, a spinal needle is inserted into the subarachnoid space between level:

Options:
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Question Number : 159 Question Id : 96623110013 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 160 Question 1d : 96623110014 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Infection of the bone is called:
Options:

, = Osteoporosis

> % oOsteoarthritis

5  Osteomyelitis

4 % osteochondritis

Question Number : 160 Question Id ;: 96623110014 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Discipline4
Group Number : 9
Group Id : 966231292
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Disciplinesd
Section Id : 966231407
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 966231461
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 96623110015 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The small intestine does NOT involve the:
Options:

1 % duodenum

5« cascum
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5 ® jejunum

4 % ileum

Question Number : 161 Question Id : 96623110015 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 162 Question Id : 96623110016 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The marriage of two persons on the understanding that as long as there are no children the marriage may be dissolved
by mutual consent is called:

Options:

1« compassmnaie marriage

. % monogamy

5 % experimental marriage

4 w exogamy

Question Number : 162 Question Id : 96623110016 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 163 Question Id : 96623110017 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is a suitable area of study in the scope of sociology?

Options:
1 % Trade

o  Community

> % DBusiness

4 % Education

Question Number : 163 Question Id : 96623110017 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 164 Question 1d : 96623110018 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A group of people organized for a particular purpose or a limited number of purposes is known as:
Options:

| % community
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» % society

5 o association

4 % institution

Question Number : 164 Question Id : 96623110018 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 165 Question Id : 96623110019 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following disease is NOT commonly encountered in children?

Options:
1 « Parkinsonism

> % Measles

= % Whooping cough

4 % Diarrhoea

Question Number : 165 Question 1d : 96623110019 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 166 Question Id ;: 96623110020 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wernicke’s encephalopathy in alcoholics is caused due to:

Options:
1 % Tfluoride excess

-  thiamine deficiency

5 w Vitamin D deficiency

4 = lodine deficiency

Question Number : 166 Question Id : 96623110020 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 167 Question Id : 96623110021 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Name the study in which the observations or data are referred to for more than one point of time.
Options:

, = Evaluative study

- u ExXperimental study
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- « Longitudinal study design

4 % Clinical trials

Question Number : 167 Question Id : 96623110021 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 168 Question Id : 96623110022 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Burning of coal. oil and other fuels in houses and in factories is called:

Options:
1 % conduction

- % convention
3 % radiation

4 « combustion

Question Number : 168 Question Id : 96623110022 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 169 Question 1d : 96623110023 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The most important cause of oral cancer is:
Options:

. tobacco usage

- » skipping meals

- % unhealthy food habits

4 = Tespiratory tract infections

Question Number : 169 Question Id : 96623110023 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 170 Question Id : 96623110024 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is NOT pathological wastes?
Options:

1 % Human tissues

o  Soiled surgical dressings
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- = Blood and other body fluids

4 % Human organs

Question Number : 170 Question Id : 96623110024 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 171 Question Id : 96623110025 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The slogan for World Health Day in the year 2012 was:
Options:

; = Make Hospitals Safe in Emergencies

» % Urbanization and Health - 1000 cities. 1000 lives

5  Aging and Health: Good Health adds Life to Years

, = Antimicrobial Resistance: No action Today, No Cure Tomorrow

Question Number : 171 Question Id : 96623110025 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 172 Question Id : 96623110026 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A mild grade of mental deficiency is confirmed when the child has an Intelligence quotient (IQ) that varies between:

Options:

, = 20and 30 and the mental age is 8 to 11 years

30 and 40 and the mental age is 8 to 11 vears

40 and 50 and the mental age is 8 to 11 vears

i
#

4 « S0and 70 and the mental age is 8 to 11 years

Question Number : 172 Question Id : 96623110026 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 173 Question Id : 96623110027 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT a type of Intrauterine Device (IUD)?

Options:
, = Lippesloop

> o Chemical foam tablets
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- w Copper—T

4 % Multiload

Question Number : 173 Question Id : 96623110027 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 174 Question Id : 96623110028 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Neonate is a child between the age of:

Options:
1 « 0to4 weeks
> # 5to 8 weeks

z % 9to 12 weeks

4 % 131to 16 weeks

Question Number : 174 Question Id : 96623110028 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 175 Question Id : 96623110029 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT a non-communicable diseases?

Options:
1 % Diabetes

- % Blindness
= % Limitation

4 Dengue

Question Number : 175 Question 1d : 96623110029 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 176 Question Id : 96623110030 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Out of the following diseases, which is NOT a contact disease?

Options:
| % Leprosy

-  Hypertension
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s % Ringworm

4 ® Yaws

Question Number : 176 Question Id : 96623110030 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 177 Question 1d : 96623110031 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
When an epidemic appears simultaneously or successively in more than one country it is called:

Options:
. = sporadic

-  Ppandemic

5 = epizootic

4 % enzootic

Question Number : 177 Question Id : 96623110031 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 178 Question Id : 96623110032 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The start of menstruation is called:
Options:

| % mmenopause

- » menorrhagia

= o menarche

4 = oligomenorrhoea

Question Number : 178 Question Id : 96623110032 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 179 Question Id ;: 96623110033 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The endometrium becomes thickened and more vascular and glandular during the:
Options:

, = ovulatory phase

- « Secretory phase
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5 » follicular phase

4 w Dproliferative phase

Question Number : 179 Question Id : 96623110033 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 180 Question Id : 96623110034 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The structure in females which is homologous to testis is the:

Options:
1 % uterus

- u [allopian tube

3 # Cervix
4 o Ovary

Question Number : 180 Question Id : 96623110034 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 181 Question 1d : 96623110035 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.25

The presence of endometrial tissue outside the normal uterine cavity is called:

Options:
1 « endometriosis

- % menorrhagia

= % amenorrhoea
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4 % menarche

Question Number : 181 Question Id : 96623110035 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 182 Question Id : 96623110036 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is a hormonal contraceptive?

Options:
| % Vasectomy

- % Condoms

5 # Cervical cap

4 « Oral contraceptive

Question Number : 182 Question Id : 96623110036 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 183 Question Id : 96623110037 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The mineral content in the bone can be calculated by:

Options:
1 ® X-rays

o  dual energy x-ray absorptiometry

3 % ultrasound

4 % Spectrometer

Question Number : 183 Question Id : 96623110037 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 184 Question Id : 96623110038 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The protozoa causing sexually transmitted diseases is:

Options:
, w chlamydia

. % 20nococcus

3 « trichomonas
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4 = herpes simplex virus

Question Number : 184 Question 1d : 96623110038 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 185 Question Id : 96623110039 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
HIV is NOT transmitted by:

Options:

1 % intercourse

> w sharing drug needles

5  Shaking hands

4 % blood transfusion

Question Number : 185 Question Id ;: 96623110039 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 186 Question Id : 96623110040 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Trophoblasts form the:

Options:
. placenta

» w embryo

% % amnion

4 ® ovum

Question Number : 186 Question 1d : 96623110040 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 187 Question 1d : 96623110041 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The structure that stores genetic information is the:

Options:
i v DNA
5 % RNA

5 % mMRNA

4 % tRNAI
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Question Number : 187 Question Id : 96623110041 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

. » F. T T. (DNA)
, » IR TA. T. (RNA)

. x TH. 3. T T (MmRNA)

, » & ¥R TA T 1 (tRNA 1)

Question Number : 188 Question Id : 96623110042 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wharton's jelly is found in the:
Options:

; % lungs

> % heart

= « umbilical cord

4 % stomach

Question Number : 188 Question Id : 96623110042 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 189 Question Id : 96623110043 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
During pregnancy, foetal movements begin between:

Options:
1 % 1—4weeks

- % 4—8weeks
=z % 10—12 weeks

4 « 16— 20 weeks

Question Number : 189 Question Id : 96623110043 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 190 Question Id: 96623110044 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The type of pelvis most favourable for normal vaginal delivery is:

Options:
, = android pelvis

-  gyanecoid pelvis
anthropoid pelvis

o R

4 » Dplatypelloid pelvis

Question Number : 190 Question Id : 96623110044 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical


https://www.adda247.com/?srsltid=AfmBOor-AwSwfx4DKpITSMBmvlUtFUzE-xzbXgcfF9madx829S9klhOd
https://play.google.com/store/apps/details?_gl=1*1eizu0t*_gcl_au*MTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

ddabr

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 191 Question Id : 96623110045 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ninety five percent of foetal presentations are:

Options:

1 #® Eeg

- « Ccephalic
3 % breech

4 % shoulder
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Correct Marks: 1 Wrong Marks: 0.25
During delivery. placental expulsion comes under:

Options:
; = Stagel

> w Stagell

5 o stage III

4 % stage IV
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Plato is known as the Father of:
Options:

1 « Idealism

- % Naturalism

Pragmatism

t
&

4 % Realism
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A systematic arrangement of the sum total of selected experiences planned by a school for a defined group of students to

attain the aims of a particular educational program is called:
Options:
, = Objectives

> o curriculum

- u learning

4 % evaluation
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Which of the following is a technique of supervision?

Options:
1 « Reassurance

» u Perceptions

=z % Emotions

4 % Values
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The Japanese have adapted the principle of human relationship theory which is also commonly known as:

Options:
; = theory A

> u theoryB

5 x theoryY

4 o theory Z
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Which of the following is a primary research tradition within anthropology that provides a framework for studying the
meanings. patterns. and experiences of a defined cultural group in a holistic fashion?

Options:

, « Ethnography

- % Phenomenology

- = Grounded theory

4 = Survey Study
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A statement of the researcher’s expectations about relationships between the variables under investigation is:
Options:
, = Tresearch question

-  hypothesis

- = Objective

4 w research design
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The chi-square test is a:
Options:

, = descriptive test

- # parametric test

5  Donparametric test

4 = frequency test
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The two most frequently used significance levels are referred to as:

Options:
, « alpha

- % beta

gamma

4 % delia
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